6.4 Areas of Surfaces of Revolution
-if
$$f(x) \ge 0$$
 is continuously differentiable on
Earb], then the area of the surface generated
by revolving the graph of $y = f(x)$ about x-axis
is $S = \int_{a}^{b} 2\pi y \sqrt{1 + (\frac{d}{dx})^2} dx$
-if $g(y) \ge 0$ is continuously differentiable
on Ecrd], then the area of the surface
generated by revolving the graph of $x=g(y)$
about the y-axis is
 $S = \int_{a}^{b} 2\pi x \sqrt{1 + (\frac{d}{dy})^2} dy$

Question H. Find the areas of the surface generated
page 335 by revolving
$$y = \sqrt{x}$$
, $\frac{3}{4} \le x \le \frac{1}{5}$ about
the x-axis.

$$S = \int_{\frac{3}{4}}^{\frac{1}{5}} 2\pi \int \sqrt{1 + (\frac{1}{24}y)} dx$$

$$= \int_{\frac{3}{4}}^{\frac{1}{5}} 2\pi \sqrt{1 + (\frac{1}{24}y)} dx$$

$$= \int_{\frac{3}{4}}^{\frac{1}{5}} 2\pi \sqrt{x} \sqrt{1 + (\frac{1}{24}y)} dx$$

$$= \int_{\frac{3}{4}}^{\frac{1}{5}} 2\pi \sqrt{x} \sqrt{1 + (\frac{1}{24}y)} dx$$

$$y = \sqrt{x} \Rightarrow \frac{1}{3x} = \frac{1}{2\sqrt{x}}$$

$$(\frac{1}{24}x)^{2} = (\frac{1}{2\sqrt{x}})^{2} = \frac{1}{4x}$$

$$S = \int_{\frac{3}{4}}^{\frac{1}{5}} 2\pi \sqrt{x} \sqrt{1 + \frac{1}{4x}} dx$$

$$S = \int_{\frac{3}{4}}^{\frac{1}{5}} 2\pi \sqrt{x} \sqrt{\frac{1}{1 + \frac{1}{4x}}} dx$$

$$S = \int_{\frac{3}{4}}^{\frac{1}{5}} 2\pi \sqrt{x} \sqrt{\frac{1}{4x + 1}} dx = \int_{\frac{3}{5}\sqrt{4}}^{\frac{1}{5}\sqrt{4}} \pi \sqrt{\frac{1}{4x + 1}} dx$$

$$S = \pi (\frac{4x + 1}{2\sqrt{x}})^{2} \int_{\frac{3}{4}}^{\frac{1}{4}} = \pi [(\frac{4(4x)}{4})^{4})^{4/2} - (\frac{4(3)}{4})^{4/2}]_{\frac{3}{4}} = \pi [(\frac{64 - 87}{6})^{2}]_{\frac{3}{4}} = \pi [(\frac{28}{4})^{2}]_{\frac{3}{4}} = \pi [\frac{28}{4}]_{\frac{3}{4}}$$

Question 18. Find the areas of the surface generated
page 335 by revolving the curve
$$x = \frac{1}{3}y^{n} - y^{n}$$
,
 $1 \le y \le 3$, about $y - axis$
 $S = 2\pi \int_{1}^{3} x \sqrt{1 + \binom{n}{2}} dy$
 $x = \frac{1}{5} y^{3/2} - y^{2}$
 $\frac{dx}{dy} = \frac{1}{3} (\frac{x}{2}) y^{n} - \frac{1}{2} y^{n} = \frac{1}{2} y^{2} - \frac{1}{2} y^{n}$
 $= \frac{y - 1}{2y^{n}}$
 $(\frac{dx}{dy})^{2} = (\frac{y - 1}{2y^{n}})^{2} = \frac{y^{2} - 2y + 1}{4y}$
 $1 + (\frac{dx}{dy})^{2} = 1 + \frac{y^{2} - 2y + 1}{4y} = \frac{4y + y^{2} - 2y + 1}{4y}$
 $= \frac{y^{2} + 2y + 1}{4y} = (\frac{y + 1})^{2}$
 $S = 2\pi\pi \int_{1}^{3} (\frac{1}{3}y^{3/2} - y^{n}z) \sqrt{(\frac{(y + 1)^{2}}{4y}} dy$
 $= \pi \int_{1}^{3} \frac{1}{3}y^{2} - \frac{2}{3}y - 1 dy$
 $= \pi \left[\frac{1}{3}(\frac{y^{3}}{3}) - \frac{y}{3}(\frac{y^{2}}{2}) - y\right] \int_{1}^{3} = \pi \left[\frac{y^{3}}{9} - \frac{y^{2}}{3} - y\right]^{3}$

$$= \Pi \left(\frac{33}{q} - \frac{63}{3} - 3 - [\frac{63}{3} - \frac{63}{3} - \frac{1}{3} - \frac{1}{3}$$

Question 20. Find the area of the surface generated
Proje 336 by revolving the curve
$$X = \sqrt{2y-1}$$
,
 $\frac{5}{8} \leq 9 \leq 1$, about the y-axis.
 $S = \int_{\frac{1}{9}}^{1} 2 \pi \times \sqrt{1 + \left(\frac{dx}{2y}\right)^{2}} dy$
 $X = (29-1)^{1/2} \rightarrow \frac{dx}{2y} = \frac{1}{2} (29-1)^{\frac{1}{2}} (2)$
 $\frac{dx}{dy} = \frac{1}{\sqrt{2y-1}}$
 $1 + \left(\frac{dx}{2y}\right)^{2} = 1 + \left(\frac{1}{\sqrt{2y-1}}\right)^{2} = 1 + \frac{1}{2y-1}$
 $= \frac{2y-t'+t}{2y-1} = \frac{2y}{2y-1}$
 $S = \int_{\frac{5}{7}}^{1} 2 \pi \sqrt{2y-1} \cdot \sqrt{\frac{2y}{2y-1}} dy$
 $= 2\pi \int_{\frac{5}{7}}^{1} \sqrt{2y-1} \cdot \frac{12y}{\sqrt{2y-1}} dy$
 $= 2\pi \int_{\frac{5}{7}}^{1} \sqrt{2y-1} \cdot \frac{12y}{\sqrt{2y-1}} dy$
 $= 2\pi \int_{\frac{5}{7}}^{1} \sqrt{2y} dy = 2\pi \sqrt{2} \frac{y^{3/2}}{y^{3/2}} \int_{\frac{5}{7}}^{1} \frac{1}{5} \frac{1}{5}$
 $= \frac{4\pi \sqrt{2}}{3} \left[1 - \frac{5\sqrt{5}}{(2)^{3/2}} \right] = \frac{4\pi \sqrt{2}}{3} \left[1 - \frac{5\sqrt{5}}{16\sqrt{2}} \right]$

Question 22: Find the area of the surface
page 336 generated by revolving the curve

$$y = \frac{1}{5} (x^{2}+2)^{3/2}$$
, $0 \le x \le \sqrt{2}$ about $y = axix$.
Hint: Express $ds = \sqrt{dx^{2}+dy^{2}}$ in terms $d dx$
and evaluate the integral $S = \int 2\pi x S ds$
about $y = axis$
 $S = \int_{c}^{d} 2\pi x \sqrt{1 + (\frac{dx}{23})^{2}} dy$
 $\sqrt{1 + (\frac{dx}{23})^{2}} dy = \sqrt{1 + (\frac{dx}{23})^{2}} (\frac{dy}{2})^{2} = \sqrt{(\frac{dy}{2})^{2} + (\frac{dx}{2})^{2}}$
 $= \sqrt{(\frac{dx}{2})^{2}} (\frac{(\frac{dy}{2})^{2}}{(\frac{dx}{2})^{2}} + 1] = \sqrt{1 + (\frac{dy}{2x})^{2}} dx$
We will replace $\sqrt{1 + (\frac{dx}{23})^{2}} dy \sqrt{1 + (\frac{dy}{dx})^{2}} dx$
 $y = \frac{1}{5} (x^{2} + 2)^{3/2}$
 $\frac{dy}{dx} = \frac{1}{5} (\frac{x}{2}) (x^{2} + 2)^{3/2}$.
 $1 + (\frac{dy}{dx})^{2} = 1 + (x \sqrt{x^{2}+2})^{2} = 1 + x^{2} (x^{2}+2)$
 $= 1 + x^{4} + 2x^{2} = (x^{2} + 1)^{2}$

$$\begin{split} S &= \int_{a}^{b} 2\pi \times \sqrt{1 + (\frac{d}{dx})^{2}} dx \\ &= \int_{a}^{b} 2\pi \times \sqrt{(x^{2}+1)^{2}} dx \\ &= \int_{a}^{b} 2\pi \times \sqrt{(x^{2}+1)^{2}} dx \\ &= 2\pi \int_{a}^{b} \chi^{3} + \chi dx \\ &= 2\pi \int_{a}^{b} \chi^{3} + \chi dx \\ &= 2\pi \int_{a}^{b} \left(\frac{\sqrt{2}}{4} + \frac{\sqrt{2}}{2} \right) \int_{a}^{b} \\ &= 2\pi \int_{a}^{b} \left(\frac{\sqrt{2}}{4} + \frac{\sqrt{2}}{2} \right) \\ &= 2\pi \int_{a}^{b} \left(\frac{\sqrt{2}}{4} + \frac{\sqrt{2}}{2} \right) \\ &= 2\pi \int_{a}^{b} \left(\frac{\sqrt{2}}{4} + \frac{\sqrt{2}}{2} \right) \\ &= 2\pi \int_{a}^{b} \left(\frac{\sqrt{2}}{4} + \frac{\sqrt{2}}{2} \right) \\ &= 2\pi (2) = 4\pi \end{split}$$

Question 24. Write an integral for the area of
Page 336 the surface generated by revolving
the curve
$$y = cosx$$
, $\overline{z} \le x \le \overline{z}$, about the x-axis
Don't evaluate the integral.
 $S = \int_{\overline{z}}^{\overline{z}} 2 \overline{z} \quad y \quad \sqrt{1 + (\frac{d}{dx})^2} \quad dx$
 $\frac{dy}{dx} = -sinx \rightarrow (\frac{d}{dx})^2 = sin^2 x$
 $S = \int_{\overline{z}}^{\overline{z}} 2 \overline{z} \quad cos x \quad \sqrt{1 + sin^2 x} \quad dx$